ER

S=1:20,000

AR [ ]

IR

TR E A

1 km

0.5

um

AT iR
BT (E X E

IRF



ER

S=1:20,000

= j"‘""

o \
< .
A/ Wb
]
E =

— B

ST

— _—r'_ |; ,_.-—-""" . N Il.a‘f ill
I. ,f -3 DN\ R
F I EBERL N 5
/ D
7 :; Ve ) by s
\ / 1 [EEQ2) »
/ ‘
/ | '. =5 ! '\\
| 3 / Bl ;1
| .’r [l "\
/’—-‘_—’ II: l
g < omEpeE ) ¥
'// X / - Y, 1 \
i v - ~ £
\ | L > L 1
X T AL
o 05 = 1km [@ag PLEiS T | T RREERRS
i I N\ ) BEA 2 =
] L | EWKEERRERRE [
MEQWJ%E%Eﬁ%
FEAIXEREUERT



= — = =VEIRRIIIINN T T TR,
|11LIE§|f4§R;|/25,000 \ % \\J iy <4 e B o
T L e ke AR LN _—— ‘_\ @ iﬁ/mnsﬂilzfﬁj
FUELEES NI TPl Al OO
H LR SER AR
El FIE OO

\]

Ll
=,

]

i

O
]
q
L]
tHREERRR RS [ ] N BRER sanmoms EAES| 102010454
= ==l A = ]
TRREERRE - LR RERR R T A -
Vs [T Srn L BEFE | SET
XiEE R SH64% A B 578 5 (3E
b EHE R EE 7R X RIX " SF 2 F£115278 & RE12498 B 5
if’/}\n’ﬁﬂ]:ﬂi[ﬁ‘z( Eiﬁ) D 1:2.500 | R “'%WGE e %1':\5% %7&%) Tt | R L EE S E




L j)lrr'lr JFJIHJI{ .'lr.'llr r’ —

| eER

1z
05

1km
1

. :.' J I\';.\

NV 7wy
LA )))s ”;HMJ' THREERRE |
|J| | \\\:\::‘2/}' ,y]). E“ 5

\ \_//y//’//-

\\\'\u III ) _\"\\ )
| 'z?!f'NqL\\lh WIS
lll |

—
\
,u"‘l) -

/

H ( \\;{/’://// / //
Z

&\' i\=—7
| I'\t\‘k\\\%’%y

//
~ —)) LS
N /}/Jﬁ// f’?i"}:_\fi%éi\\\%*:

/ ) v N
| ( w\l\ I\ { e — N
WN\W /ﬁz/z;&f_. NSNS
: \\\\M ( 77— ~\\\|\ \,
) AN (\f.//’”k(‘fh'ﬁf?—‘—i}rﬂ\\ Ml I
- / ARALLUARIN, ) — AN
g ME S
W= —
_ P ( AN
[ | r=onmiz. L nERRGORTFEEB0EEALELOTHS. ) —

=\ A\
A
?\\\\ i\

g S —
—

. _;f.:'\ \
ﬁ:‘:‘ﬁﬁ\

— Y
zanll ﬂ\‘u, Il m”f/—fié//:\i\i\\\\\\\f M~
! HM&RR\ i \\\‘-\\‘\t&\ﬂfﬁ*@\\:‘&t\\%“ﬂ? MS
W \) ,_\\\\ A\ :\\" _,_/H \ ) ) \ I\\'- \‘H \ \\ | \\\\'—//uf?l(/ 7 . I' If
DO 77NN
0 25 50 10(r)n
s 44§ = ek 1y 2 TR KEE R R (YR ) |:| }N\ ian | tER & S| 202030147
Y EE . D30 = 2X =S
THRBERES TRABRA SRR YR | fFM7HE A B &RE SUEE) | #E | keI

X I8 = R R
S TR EHANERRE REE) [ 1250 I




